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(6) ZmVog§~§Y
1) A‘a Ë¶mMr AmVo~{hU g{dVmbm åhUmbm gmB©amO hm ‘mÂ¶m AmOrMr ‘wbJr H$‘b {hMm ZmVy Amho. A‘aMr AmË¶m

hr gmB©amOMr AmOr Amho. Va H$‘b Am{U g{dVm ¶m§Mo ZmVo H$m¶?
1) ~{hU - ~{hU 2) AmB© - ‘wbJr 3) ‘wbJr - AmB© 4) AmOr - ZmV

1) Amar told his cousin sister Savita that Sairaj is the grandson of my grandmother’s daughter Kamal.

Amar’s aunt is Sairaj’’s grandmother. So what is Kamal and Savita’s relationship ?

1) Sister — Sister 2) Mother — Daughter

3) Daughter — Mother 4) Grandmother — Granddaughter

2) AmR> ì¶º$sÀ¶m Hw$Qw>§~mV VrZ {ddm{hV OmoS>r AmhoV. gr‘m hr lrMr AmOr Am{U Ho$VZMr gmgy Amho. g§O¶Mm ^mD$
Agcoë¶m AO¶Mr Zohm hr ‘wcJr Amho. Am¶m© ho g§O¶Mo EHy$cVo EH$ AnË¶ Amho Am{U Vr lrMr AmB© Amho. JrVm hr
AO¶Mr nËZr Amho Va Am¶m©Mr AmB© ............ Amho.
1) JrVm 2) gr‘m 3) Zohm 4){Zc‘

2) A family of eight persons has three married couples. Seema is the grandmother of Shree and is

the mother-in-law of Ketan. Neha is the daughter of Ajay, who is the brother of Sanjay. Arya is the

only child of Sanjay and is mother of Shree.

Geeta is the wife of Ajay. Then Arya’s mother is

1) Geeta 2) Seema 3) Neha 4) Nilam

3) g[aVm hr gmo‘oeÀ¶m AmB©À¶m ZmVdmMr nËZr Amho. gmo‘oeMm g[aVmer H$m¶ g§~§Y Amho ?
1) AmOr 2) dS>rc 3) gmgam 4) Zdam

3) Sarita is a wife of grandson of Somesh's mother. How is Somesh related to Sarita?

1) Grandmother 2) Father 3) Father-in-law 4) Husband

4) P, Q, R, S, T d U ho Hw$Qw>§~mMo ghm gXñ¶ gwÅ>rMr ‘m¡O bwQ>Ê¶mgmR>r O‘bo AmhoV. U hr T Mr ~{hU Amho Á¶m ì¶º$s̈Mm
P hm ^mD$ Amho. R hm P À¶m H$mH$mMm qH$dm ‘m‘mMm EHw$bVm EH$ ‘wbJm Amho, Á¶mMr EH$‘od ~hrU hr U Mr AmB©
Amho. R À¶m d{S>bm§Zm ^mD$ Amho Á¶mbm Q d S ¶m ‘wbr AmhoV.
¶m ‘m{hVrÀ¶m g§X^m©V gË¶ {dYmZ/Zo {ZdS>m.
{dYmZo …
a) S hr P Mr MwbV qH$dm ‘m‘o ~hrU Amho. b) gd© gXñ¶m§Mo nmbH$ hr ^md§S>o AmhoV.
c) T hr ì¶º$s {ZpíMVnUo Hw$Qw>§~mMm nwéf gXñ¶ Amho. d) Q d U ¶m nañnam§À¶m ‘m‘o dm AmVo ~{hUr AmhoV.
n¶m©¶r CÎmao …
1) gd© 2) c IoarO gd© 3) b d c XmoÝhr 4) a d d XmoÝhr

4) Six members of a family namely Z, T, Th, D, D have gathered for a holiday party. N is the sister of

D to whom J is the brother. Th is the only son of Z's uncle or maternal uncle, whose only sister is

N's mother. Th's father has a brother who has daughters T and D.

Select the true statement/s regarding this information.

Statements :

a) D is cousin or maternal sister of Z.

b) Parents of all members are siblings.

c) This person is definitely a male member of the family.

d) Two are maternal uncles or half sisters of each other.

Answer options :

1) All 2) All except c 3) Both b and c 4) Both a and d
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5) A ho C Mo dS>rb AmhoV Am{U D hm B Mm ‘wbJm Amho. E hm A Mm ^mD$ Amho. Oa C hr D Mr ~hrU Agob Va
B ho E er ZmVo H$m¶?
1) ‘wbJr 2) nVr 3) Xra 4) ~hrU

5) A is father of C and D is son of B. E is brother of A. If C is sister of D, how is B related to E ?

1) Daughter 2) Husband 3) Brother-in-law 4) Sister

6) Oa (A+B) åhUOo A hm B Mm ̂ mD$ Amho; (A-B) åhUOo A hr B Mr ~hrU Amho; (A x B) åhUOo A hr B Mr nËZr
Amho; Am{U (A÷B) åhUOo A ho B Mo dS>rb AmhoV, Va Imbrbn¡H$s H$moUVm n¶m©¶,'O hm L Mm ‘wbJm Amho'ho
Xe©{dVmo?
1) L x M ÷ N + O - P 2) L ÷ M ÷ O - N ÷ P

3) L x M ÷ N - P + O 4) L x M ÷ N - O + P

6) If (A + B) means A is brother of B; (A - B) means A is sister of B; (A x B) means A is wife of B; and

(A ÷ B) means A is father of B, then which of the following option indicates, ‘O is son of L’ ?

1) L x M ÷ N + O - P 2) L ÷ M ÷ O - N ÷ P

3) L x M ÷ N - P + O 4) L x M ÷ N - O + P

CÎmao : (6) ZmVog§~§Y

1-2 2-2 3-3 4-4 5-3 6-4


